

Condit of Road (Taxy Yarni Path To Bijokhaz.)
Schedule X LV-Form No. 134
UNDER - (MMSY - SC)

Executive Engineer

R. W. D. (R') Divisions

Darbhanga - 4

DIVISION

Ag. No: - 14/S.B.D/ 2021 - 2020

Manisackhi

SUB-DIVISION

Ag. Amount Rs. - 82,97,578/-

MEASUREMENT BOOK

1122

PRAMOD KUMAR YADAV

प्रमाणित किया जाता है कि इस मालाकुल का
मर्यादा से टकिया कुल-100 (एक हजार) पैसे है।
जो श्री बालाजी देवी
लघु अंगों के बाजार से काम करता है, अवश्य प्रमाणित
मालाकुल के लिए किया जाता है।

Om Prakash
15/11/21
Executive Engineer
R. W. D. (W) Division
Darbhanga - 2
15/11/2021

Sch. XLV - Form No. 134

Executive Engineer
R. W. D. (W) Division DIVISION
Darbhanga - 2

Manigaonki SUB-DIVISION

Measurement Book

No. 1122

Name of Officer _____

Date of first entry _____

Date of last entry _____

Instrumental Bill

1

Name of Work-
Situation of Work-
Agency by which work is executed-
Date of Measurement-
No. and date of agreement

(These four lines should be repeated at the commencement of the measurement relating to each work)

Particulars	Details of actual measurement				Contents of area
	No.	L.	B.	D.	
Name of Work					construction with maintenance of
work from Tariyanti Path to					
B) Jokhal in Manigadhi block					
Name of Agency					Patrak Kumpayadav
At-chamoli, Manigadhi (Village)					
Agent. No. -	14153D/2021-22				
	(PMP65Y-SC)				
Agent. value	82.97538 -				
Date of work	17.4.21				

Date of comp't - 16.4.22 -

Situation of work - In progress.

work done -

① setting out of Ref & work's Bench
mark - of BL

110.

② confr. of Ref. & Manjibujees
of BL

410-8

③ clearing & grubbing of Rd. 0.0 -

$$11 \times 30 \text{ M} \times 3.2 \text{ M} (\text{m}) = 1152 \text{ m}^3$$

$$11 \times 30 \text{ M} \times 3.50 \text{ M} (\text{m}) = 1155 \text{ m}^3$$

$$11 \times 30 \text{ M} \times 3.520 \text{ M} (\text{m}) = 1155.2 \text{ m}^3$$

$$\Rightarrow 3463 \text{ m}^3$$

$$= 30.35 \text{ Hect.}$$

$$= 30.35 \text{ Hect.}$$

Blanc
20.11.21
G.S
Continuation

Particulars	Details of actual measurement				Contents of area
	No.	L.	B.	D.	
(i) continuation of embankment with mate. from boarder bits — till chainage + 5 Area - M. Area - Dist. (A.Y.) (M) (M) (M) (M) (M)					
0.00	2.100	2.150	50	103.50	
50	2.200	2.150	50	103.50	
100	1.500	1.883	50	94.25	
150	1.200	1.660	50	83.00	
200	2.430	2.090	50	104.50	
250	2.325	2.402	50	120.10	
300	1.550	1.962	50	98.10	
350	2.360	1.755	50	92.00	
400	1.330	1.845	50	92.00	
450	1.195	1.288	50	62.90	
500	1.185	1.190	50	59.50	
550	1.240	1.212	50	60.60	
600	1.280	1.255	50	62.35	
650	1.225	1.248	50	62.40	
700	1.230	1.228	50	61.40	
750	1.525	1.378	50	68.90	
800	2.480	2.002	50	100.10	
850	2.60	2.640	50	132.00	
900	3.84	3.72	50	186.00	
950	2.25	3.045	50	152.25	
				⇒ 1826.25	
(i) from 100 to 1000 m.					
				⇒ 20% of 1826.25	
				⇒ 365.25	
(ii) from 1000 to 10000 m.				⇒ 30% of 1826.25	
				⇒ 547.875	
				continuation	
<i>M. A. M.</i>	<i>30.11.21</i>	<i>6.2</i>			

Particulars	Details of actual measurement				Contents of area
	No.	L.	B.	D.	
⑤ Excavation for Rd. works					
In B.T. position					
	2x5x30m x 0.525x0.10m	= 15.375			
	2x4x30m x 0.525x0.10m	= 12.60			
					⇒ 28.375
⑥ contour of G.S.B. with well					
In B.T. position					
	2x5x30m x 0.525x0.10m	= 15.375			
	2x4x30m x 0.525x0.10m	= 12.60			
					⇒ 37.375
In footline correction/leveling					
coarse (L.S) - - - = 9.00m					
(it can't measurable)					
					⇒ 37.375
Blm:	03.01.22				
Through:	0.5				
In brick soi position.					
	5x30m x 4.05m x 0.10m	= 60.825			
	4x30m x 4.05m x 0.10m	= 48.60			
					⇒ 109.425
In Earth position					
	5x30m x 4.05m x 0.20m	= 121.50			
	5x30m x 4.05m x 0.20m	= 121.50			
	4x30m x 4.05m x 0.20m	= 97.20			
					⇒ 246.20
⑦ Pro. & drawing of typical (mpg) information sign board					
					240.8
	Continuation				
	Blm:	05.02.22			

Abstract of cost

(1st form of the bill)

Sch. XLV-Form No. 134

Particulars	Details of actual measurement				Contents of area
	No.	L.	B.	D.	
1) Sett' contour Ref. 8 works Bench marks — 4840					
2) const. of Ref. pillars/ bushes — 4818					
3) 4840 x 107.71 MB = 126.					
4) 4083-50 = 4084-0					
5) const. of Ref. pillars/ bushes — 4818					
6) 4818 x 107.71 MB = 126.					
7) 4818 x 107.71 MB = 2549-0					
8) Cleaning & Grubbing of Ref. lot — 4818					
9) 47.71 MB x 107.71 MB = 0.3514 ft					
10) 52920-33/4 ft = 18381=					
11) Excavation for Ref. work in soil (Boring cutty) —					
12) 4840 x 107.71 MB = 52.35 ft ³					
13) 52.35/107.71 MB = 2142-0					
14) const. of embankment with mate. of 10000 ft bits — 10000 ft					
15) 4818 x 107.71 MB = 542.83 ft ³					
16) 542.83/107.71 MB = 104293					
17) const. of embankment with mate. of 10000 ft bits — 10000 ft					
18) 4818 x 107.71 MB = 1278.38 ft ³					
19) 1278.38/107.71 MB = 197228=					
Continuation	7333677- C.O'				

Continuation